SSC CGL MOCK-IV

— ANSWER KEY MOCK 4 SOLTIONS

1. (d) 2. (b) 3. (a) 4. (a) 5. (b) 6. (a) 7. (c) 8. (b) 9. (b) 10. (b)
11. (b) 12. (b) 13. (¢) 14. (c) 15. (¢) 16. (a) 17. (a) 18. (a) 19. (¢) 20. (c)
21. (c) 22. (a) 23. (d) 24. (a) 25. (d) 26. (a) 27. (a) 28. (c) 29. (b) 30. (b)
31. (a) 32. (¢) 33. (¢) 34. (a) 35. (b) 36. (a) 37. (b) 38. (c) 39. () 40. (b)
41. (c) 42. (a) 43. (c) 44. (b) 45. (b) 46. (a) 47. (b) 48. (b) 49. (b) 50. (b)
51. (d) 52. (b) 53. (a) 54. (a) 55. (b) 56. (a) 57. (c¢) 58. (b) 59. (b) 60. (b)
61. (b) 62. (b) 63. (d) 64. (b) 65. (b) 66. (a) 67. (b) 68. (d) 69. (c) 70. (c)
71. (c) 72. (a) 73. (d) 74. (a) 75. (d) 76. (b) 77. (a) 78. (a) 79. (c) 80. (c)
81. (d) 82. (b) 83. (a) 84. (a) 85. (a) 86. (a) 87. (a) 88. (a) 89. (c) 90. (a)
91. (d) 92. (b) 93. (a) 94. (b) 95. (c) 96. (d) 97. (d) 98. (b) 99. (b) 100. (d)

[Hint & Solutions |
1. (C) 24 088 20 - 9, (D) Page Pain Pair  Pall
24 2 22 + 2 1 2 3 |
2. (B) Car repairs in garage. Similarly, Hence; appear on the third
Aircraft repairs in _ position in English dictionary order.
3. (C) w5 ) 71 10. (C) Cell Tissue Organ
NXO : 14x15 Gxs . [719 2 1 3
Hence, the meaningful order is
4. (D] C N DY %t % 3 3
l, |.: : __,,l, 11. (B) gy ___._I..“T__._Il
T 13 3 oA Z3A WoD O81J  N243M
B M C ! rd ! 3.4 T
Similarly,
E X FW 12. (€) 7 12 19 28 30
o e L+s 4l +7 | +0 lr114] +13%
13. (D) (1!_1,!-'1‘) (TJ,.JI'J kf),l;) (1\-'_,\,\;')
5. (B) Mint, Coriander and Rosemary all BC . FGH . KLMN  [QRSTU]. XYZABC
are plants, but is a tree. 14. (B) I'rom the choices:

6. (D) (A) 2 M 21(B) 25 23 22 20

7z xw oy wov o
L24 2 L2M N2
© 8RR @1_2@
7. (©)
(A)  9-27: Both numbers are divisible by 3
() 9-12: Both numbers are divisible by 3
(C) : Only 15 1s divisible by 3
(D) 21-27 : Both numbers are divisible by 3

8. (B) Solving from the options.
(A) 00, 30, 95, 78
(B) |30, 13, 65, 88|
(C) 41, 85, 10, 99
(D) 96, 75, 34, 58

(A) Inserting the sign (v, -, %)
We get,
9+3-4x6

DG

29 |Use 'BODMAS rule|

9+ 3-24 12 - 24 =29
12 =+ 29

(B) Inserting the sign (<, —, +)

We get,

[9 X3 -4+6 =29 [Usc BODMAS rule|

29

27 + 2 29 =729

(C) Inserting the sign (+, =, )

We get,

9+ 3 x4 -6 =29 |Use BODMAS rule]
9+12-6=29 15 # 29

(D) Inserting the sign (<, +, )

We get,

9x3+4-6
20 =2 =29 = 25 #

29 |Use 'BODMAS' rule|

29
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15.

16.

17.

18.

19.

(D) E V ENT
5 22 5 14 20

0+5 242 045 144 _2+0
5 4 & & 3

Similarly,
R E V E N G E
18 5 22 5 14 7 5
LvH O+5 242 0+5 1+4 047 045
[2 8 4 s s 7 8]

(€)

21

(5x3%2)3

[7=4=3)-4
2 3

Similarly,

(B)

JAR e

—— 8 km ——y

> 62182

V100 (10 k)

- JABBC?
J36 + 64

&
(XN

e/

Shaded area shows people who
speaks all three languages.

qdsH B

(C)

(A)

21.

22.

23.

24.

25.

All classrooms have blackboard and all
schools have classroom, same relation
show by the above diagram.

(A) I. Can't say, according to
statement there are two children have
blue eyes and two have brown. Not
sure who have which colour of eyes.
Hence, Conclusion | is wrong.

Il. According to statement there are
four children. From them half are girls.
Means, half are boys.

Hence; [Conclusion II is true]-

II1. Can't say, according to statement
there are two children have blue eyes
and two have brown. Not sure who
have which colour of eyes.

Hence, Conclusion Il is wrong.

(D) @'®.® ) @

I.  Not definitely true,
Hence, conclusion [ is not follow.
Il. Not definitely true.
Hence, conclusion Il is not follow.

So, @ option none of these conclusion
I and II follow.

(€)

(B)

} ay

v v v
o IG5

oL x = \/x+ 4\/x+4\/x+ 4Vx +4...

Squaring both sides

x2:x+\/x+4\/x+4«/x+4
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x2:x+4x

x2 = b5y
x=5

(\/x +4\x +4Jx +4 =x)

1

x2 +6x+10
For maximum value f(x)=0

e Love o0l
2l = |=0
dx|x2 +6x+10
(x2+6x+10).0—1(2x+6):

52. f(x) =

0
(x2 +6x +10)2
2c+6=0
x:ﬁ:—3
2
1

(() :—:1
7% max 9-18+10

53. Min value of (a cos? 0 + bsec? 0)
When (@ < b) / (a cos? 0 + bsec? 6)
(a>b)=a+bd
. Minimum value of 5cos2 0+ 9sec2 0
=549=14

54. 1—cosA><1—cosA
l1+cosA 1-cosA

_(1—c0sA)2

1-cos? A

_(1—cosA)2

sin? A

_(l—cosA\2

| sinA |

55.

AB =4cm
QR =12cm
PR=9cm
In
Z/APB = ZQPR
ZABP = ZQRP
AABP ~ AQRP
AB PB
QR PR

56.

57.

man

58.

&) &

In AABC, AE is external bisector of Z/CAD / AABC
.. By external bisector theorem
AB BE
AC CE
Let CE =x cm
5 6+x
3 x
5x =18+ 3x
bx —3x =18
2¢ =18 x =9 cm
CE = 9cm

10m/
1

y
v (511
A B

Let AC is the height of a pole and B is the position of

tan60° = AC
AB
V3 _ 10
1 AB
V3AB =10
AB = 10
V3
Ap - 103
3
.". Distance of the person from the pole
10+/3
=——m
3
Let the sides of triangle be 3x,4x and 5x units

3x)% + (42)2 = (51)2
9x2 +16x2 = 25x 2
.. The triangle is a right angled

.. Area of triangle = % X 3x X 4x = 6x 2
6x2 =144
x2 =24
x = +/24 = 2./6 units
.. Sides of triangle
=3x 26,4 x 246

and 5x 246 = 66,86
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59.

60.

61.

= 66 + 8/6 + 1046
= 246
3a = 24+/6
L a = 8/6 units
.. Area of equilateral triangle

V3 2

=—Xxa
4

:%?x&@x8ﬁ§
= 96+/3 units 2

ABC is an equilateral triangle of side ¢ cm
.. Area of AABC

1 ABxOE+1xacxoF+ 1
2 2 2

%?azzéxMOE+OF+OD)
(. AB=BC=CA=a

2—%Xa@+7+$

3
3

a?2=2x21
2

_42 3
"B s
Ratio of capitals invested by A, Band C
=5:6:8
Ratio of profits earned by A, B and C
=10:15:24
.".Ratio of time spent by A, B and C
10 15 24

5 6 8
= 2:§:3 =4:5:6
2

4
4
=143 cm

Let the average money spend by them is Rs x
Total amount of money spend by 1-0 persons
=30x10 =300
Money spend by 11th person
=x+20
.".Total amount spend by all person
=(320 + x)
320 +x = 11x
320 = 10x
x =32
Total money spend by all them
=32x11= 352

—

62.

63.

64.

65.

66.

67.

Let x = 0.69
Multipling both sides by 100
100x = 69.69
-x = —69
99x - 69
o 69 ] 23
99 33
15 1 4+1 5
3°+4' "4 T4 _ 4
g-41! ; 1 4-1 3
4 4 4
5 4 5
= — ¥ — =f—
4 3 3
B gives 5% start to A/ B, A

.. Ratio of distance travelled by A and B
=95:100 =19:20
Again C gives 10% start to B/ C,B
=10%
Ratlo of distance travelled by Band C / B
. A:B:C =171:180:200
start given by C to A in 200 m/race
=200-171= 29m

A completes i of work in 4 days

.. Work done by A in 1 day = RN
4x4 16
.. Part of work completed by B in 8 days

.". Part of work completed by B in 1 days

4.2 11
" 5x8 20
.. Total work compelted by A and Bin 1
1 1.1 1 _5+4_9
16 20 80 80

-~ A and B together complete % work in 1 day

.. A and B together complete 1 work in

180 _ B
9 9 9

~~ HCF is multiple of LCM, so from the given
options, 12 is not multiple of 160
=12
Increase in expenditure = 20%
Let the first expendituzrex
Now increased exprnditure

20 6x
SX XX = —
100 5
6x
——-x
Decrease in expenditure = 56 x 100
X
5
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6
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3
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68. Let the printed price of watch be Rs x

Selling price of watch after allowing 20% discount
=x—x of 20%

x 200 _x x _ Sx-x _4x

1 100 1 5 5 5
Cost price of watch

5 112 8
.".Ratio of the cost price to printed price
= 5—xx =5:7

69. Total amount

We know that = —
Principal
rxt)

:(1+—
100 |

(1+r—t\
100 |

I
DO
[«

rt+93

100
rt +3r

100
_20+3r

100
=10
=10%

Amount of milk in first vessel
5

13

Amount of milk in second vessel
2

" 13
Amount of milk in mixture

Il
—

+

After 3 years

N MR pIRNwS aglo

=
.. Interest rate
70.

= 162% _1
3 6

.. Required ratio =1:17

Let the speed of boat is x km/h and the speed

of stream is y km/h

71.

72.

73.

74.

75.

.". The sped of boat along the stream

=(x + y) km/h
The speed of boat against the stream
=(x - y) km/h
xty=2=%
10 10
3
x—y= 1= 3
Subtract eq. (ii) from (i)
x+y\6
x—-y=3
o o o=
2y=3
3
&
Speed of the stream
= 1.5km/h
Let
a:bic=5x:Tx:8
a+b=5x+"Tx =12
a+b+c=5x+Tx+8x =20x
(@a+b):(a+b+c)=12x¢:20x
=3:5
The number of students passed in English
2144 x 1200 = 480
360°

The number of students passed in Geography
=20 x 1200 = 240
100

.. Required Ratio = 480:240
=2:1
The number of students passed in English
144 x 1200 = 480
360°
The number of students passed in Mathemetics
=25 x 1200 = 300
100
.. Difference =480 - 300 = 180
The percentag of students passed in English
2144 x 100
360°
=40%



